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Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Which of the Tollawing are sources of kght?

Vi

clock
v" A) fire and sun only
B) book and sun only
C) clock and fire only
D) clock and sun only
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,282
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Study the diagram balow

ClassMarker - Manage Test

L. BorEEn

== . shatipx

Wha will happen to the shedow o the tarch & moved nearer 1o the obec 7

A) The shadow will disappear
v B) The shadow will become bigger

C) The shadow will become smaller

D) The shadow will remain the same

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,291

Question 3

Study the diagram below.

shadow

What caused the shadow of the tres to form?

A) The tree reflected light
B) The tree absorbed light
C) The light passed through the tree

¥' D) The path of light is blocked by the tree

Question Type: Multiple Choice
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Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,440
Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which one of the following is a matter?

A)

shadow formed by hands

B)

O

sound from a man

v C)

ey

wind frem a fan

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,118,473
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Question 5 Primary 4 Science » Primary 4 Science (Term 2)

The table below shows the properfies of thres matier.

Matter Dafinite voluma um.nhnpa Can be ﬁm

A Mo L]
B Yes No Mo
C Yeg _Yes Mo

Which one of the following matter has properties of a solid?

A) A
B) B
v C) C

D) None of the above

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,491
Qu estion 6 Primary 4 Science » Primary 4 Science (Term 2)

Which one of the following is not a source of heat?

v A)

B)

Toaster

C)
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Campfire
D)
Hair dryer

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A
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basin of

Fcil Wizt

v B) 2

C)

w

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 8

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,118,526

ClassMarker - Manage Test

Ted want=d te remove fhe metal cover that was fitted tightly to the glass
container. UMwHaMHmw,Mﬂﬂmﬂnﬁumm
would allow Ted to easily remove the metal cover?

metal cover

glass
container

Primary 4 Science » Primary 4 Science (Term 2)
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The dizgram below shows a cooking pot with hot potatoes in it

Part &

What properties of the materials are suitable for making part E and part F of

the cooking pot?
PartE “PartF
i1} good conductor of heat good conductor of heal
2) poor conductar of heat good conductor of heat
3y | -good conductor of heat poor conductor of heat
iy | poor conductar of haat poor conductor of heat
A) 1
v B) 2
C) 3
D) 4

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,536

Question 9

Primary 4 Science » Primary 4 Science (Term 2)

The windshield of a car allows the driver 1o see the road ahead dearly when
deivirag under any conditians,

wind shiehd -

Wihat properies of the windshisld aflow the driver to drive on rainy daysT

A) strong and flexible
B) strong and translucent

C) waterproof and flexible

D) waterproof and transparent
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Date Added:

Last Modified:
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Question 10

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11
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Multiple Choice
No

Wed 7th Oct 2020
N/A

24,118,557

Primary 4 Science » Primary 4 Science (Term 2)

Which one of the following statements about magnets is true?

A) The magnetic strength of a magnet is strongest in the middle
B) A temporary magnet can only be formed by the electrical method
¥ C) Magnets will lose their magnetism when heated over a strong flame

D) A freely suspended bar magnet will come to rest in the East-West direction

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,118,586
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Dﬂmymmmmrh—nmﬂanamwnhm* Hi ; objects

. He had four different and

mmﬁﬂﬁﬁﬂmmmmmmuﬂwm?mumh
prevent the ballaon from huﬂm.mmuhnbfaﬂrnmm

baloon
toy car P
abjest 1oy car (1
slapper
The objects weana:

Object j
A Magnet |
8 Stawal
c Plastic
]

Which of th
o & four objects above would not be able to prevent the ballogn from

A) Aonly
B) AandBonly
C) CandDonly

D) B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,599
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Study the set-up below. sereen

==

Objects X, ' end £ wera placed In betwaen the fight sourca and tha screen one
at & tme.

OROFA

The following ahadows weane formad an the acraen.

ﬂlﬂaw_

Based on the observations abowe, which of the fallowng statements are
cormact™

A Cibgect X blocked the most light,

5| Ot Y allowesd maost light o pass through.

[ Obpact Z did not aflow &y Bght to pass through.

o The path af light was biocked by at least one of the objecs,

A) Aand Conly
B) AandD only
C) BandDonly

v' D) CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,628
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Annie used a forch bo shine on an object. She discoverad that the ob
cast both the shadows shosm bedow wes o

Which of the following was the object which Annie had shone the teech on?

(1
(2]
) 4]
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,633
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water leval rose fo 200 mi.
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Arthiur placed ohject 5 in a beaker that vwas fillad with 120 ml of water snd the

back o the baaker with 1

basker without object 5

20 ml of wihar.

beaker with object §
L]

T

it the baaker?

A) 80 ml
B) 120 ml
v C) 200ml

D) 320ml

Question Type: Multiple Choice
Randomize Answers: No

Question 15

beaker with object 5

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,664
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20

object 3

He took out object 5 and cuf it inbs beo halves. He than placed the wo habaes

What is the reading of the watar laval when bwo halves of object S are placed

Primary 4 Science » Primary 4 Science (Term 2)
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Study the diagram below.
object A object B
volume = 20 cm? balance _ wolume = 40 cm?

Which of the following statemeants about objects A and B are carrect?

Baoth objects have different mass.
Both objects have the same mass
Bath ohjects have different valums,
Bath cbjects have the sams wolurme

oOom>

A) AandB only
B) AandD only
v' C) BandC only

D) B andD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,680
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Ban pourad 80 cm? of water into 2 container as shown in the diagram below.

80 cm? of
water
Ha then poured 50 cm?® of sand into the cantainer. '
B0 e
of sand
&0 em? of
wiaker
Wity was tha water level balow 140 cm®?
A) The sand can be compressed
B) The water can be compressed
C) The air trapped between the sand particles was compressed
¥ D) Some water occupied the air spaces in between the sand particles
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,704
Question 17 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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The diagram below shows a metal block.
What happened to the metal block after it was heated?
Shape Volume
(1) Changed Increased
(2) Same Increased
(3) Same Decreased Decreased |
(4) Same Increased
A) 1
B) 2
c) 3
v' D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Muiltiple Choice
No

Wed 7th Oct 2020
N/A

24,118,713
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During a sclence fair, an experiment was set up as shown balow.

glass I
beaker

Beaker & with Baaker B with
500 ml of hot 300 ml of hot
water at 100°C water at 100°C

Four students came along and made the following comments:

| Student Comments

Raliiio The water in bath beakers will eventually reach
moom temperatura.

Berinda | 17 water in beaker A has more heat than the
waler in beaker B.

Caill Temperature of water in beaker B will decreasa

faster than that in bagker A,

Da;id Since the water in both beakers have the same

i tamperature, they have the same amount of heat,

Which of the commants made isfare true? -

A) Ashton only
B) Ashton and David only
C) Berinda and Calli only

v’ D) Ashton, Berinda and Calli only

https://www.classmarker.com/a/tests/test/?test_id=1541073&trk=edittest_inrow_edit

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,736
Question 19 Primary 4 Science » Primary 4 Science (Term 2)

2 pts

16/44


https://0cm.classmarker.com/6226088_8GA4XPP7.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24118736
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24118736&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541073

8/6/2021

basin filled
with 200 mi
of water at

80"c

ClassMarker - Manage Test

Two contziners, A and B, were mmersed inko @ basin of hot watar at 90°C a2
shown in the diagram belaw.

contaimer A filled
with 200 mi of
water l 50'C

If the whole set-up was placed In a rooem at a temperature of 23°C for 9 hours,
wihich of the following correcly shows the temperature of the water found in the
twa containers and the basin®

Question Type:

Date Added:
Last Modified:
QID#:

Multiple Choice

Randomize Answers: No

Wed 7th Oct 2020
N/A
24,118,747

Question 20

Basin Container A 'Gmi;nﬂr-a—‘
._I:.ii 1 _ﬁi]'ﬂ s0°C 1078 __
() 50°C s50°0 50°C

! (2 EE e -j_ = 23°C ET{:—: -__.___l

! I{-IH_ ) __EIZI-'C B | ) 23'[:. 230 !
A) 1
B) 2
v C) 3
D) 4

Primary 4 Science » Primary 4 Science (Term 2)
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A metal bar was formed by joining two matsl strips together. After being heated
for a short period of time, one metal stip expanded mose than the other,
causing the metal bar to bend as shown balow.

metal ctrip

expanded maona

metal strip
expanded less"

}mm

In another experiment, threse metal bars, 1, 2-and 1 were heated for tao
minutes each and the resultes wene shown in the dEagram balow.

p EH o

i ®

metal bar 1

LR

)

maial bar 2

metal bar 3

Which one of the folowing corectly showed the amrangament of metale starting
from the metal that expands the most o the matal that axpands the laast whan

haated?
’ -
gxpands most ———  expands leas

(1) 2] ; Q P
() Q R P
{3 P g Q ; R
{4y 8] P , R

A) 1

B) 2

c) 3

D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 21

Muiltiple Choice
No

Wed 7th Oct 2020
N/A
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& beaker of water was placed on lop of theee different materiats, and a candle
was placed below to heat the water up &8 shown In the diagram bedow.

meterial 2

candle

Which of the following combmation of materials would allow the beaker aof watar
o kezat up the iastest?

|
. Matarial 1 | Matarial 2 | Matarial 3
| (1) | Siesl Wood Plastic
@ | ron | Stes Wood |
(3) Plastic | Copper Steel |
[4) Copper ] Steal tron |
A) 1
B) 2
C) 3
v' D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,773
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Study the 2 groups of objectz balow.
Group G
RN
. = el
Ear?:m‘d T-shirt _ Log
Group H .
q '\CJ@
Window pans Magnifying glass Glasses

Which ane of the following are possible headings for Group G and Group H?

Group G Group H
A Streng IL Mot Strong
B Mot flexible Flexibie
G Not waterpreaf Waterproof
D Mot transparent Transparent

A) AandBonly
B) Aand C only
C) BandDonly

v' D) CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,798
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Mingwei conducted an exparimant with three materials, X, Y and £. He added
load of dfferant masses to each materdal as show in the diagram below.

matenal

support

His ch=arvations were shown in the lable below.

Did the matedal break when the 'oad was added?
Material ‘I
5-kg 10-kg
® 1 no no i
L ' no ng yes
i ng yas YES

Which of the following staternents sboul matenals X, Y and 2 isfare true?

A h';haial 2 is the strongest

E | Materiad Y is weaker than material E_
L

D

i

- Material Z is more flexible than material X
! Maberal Y can support a heavier load than malerial £,

A) Aonly
B) B and C only
v'C) AandD only

D) A, CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,868
Qu estion 24 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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The sat-up balow is made up of four rngs, P, 0. R and 5.
Based on the diagram above, which of the following could objects P. 0, R
and 5 ba'y
1
p a R s “
(1) plastic ring magrat magnet steal ring
{2) rmagnet | Eteal ring magnet plastic ring J
£ plastic ring magnel steal ring magnet
(4) ates ring magnat plastic ring magnet
v A) 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,878
Question 25 Primary 4 Science » Primary 4 Science (Term 2)
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Thiree bar magrets, AB, CD and EF, can be amranged as shown balow,

A B|C DI E F

Which one of the following amangerments of the magnets & not possibla?

=)
m el . F Blc|F
oA B E A D] E
(3 {4)
E|EB
5] E F
A B
Flal o c
i
A) 1
B) 2
C) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,891
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Study the two pictures bolow.

Which one of the following statements correctly describes both living things?

A) Both reproduce from spores
B) Both are non-flowering plants
C) Both can make their own food

v' D) Both can respond to changes around them

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,905
Question 27 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Siudy the flow chart balow.

Living Things

https://www.classmarker.com/a/tests/test/?test_id=1541073&trk=edittest_inrow_edit

Does it lay eggs?

What amndmake cowdd B, S and T ba?

ClassMarker - Manage Test

3 ___F'. 5 T
) Chicken Coow Mosguito
(2 Mioagulto Cow Chicken
(&) o Mosguito Chicken
(4 Mosquite Chicken Cow
A) 1
v B) 2
c) 3
D) 4
Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,118,910
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The pictures below show & monkey and a hamster.

meonkay hamster

They are similar because they .

A) lay eggs
B) have feelers

C) are covered with feathers

¥ D) feed their young with milk

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,118,929

Question 29 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it

was designed in such a way that it requires manual assistance.
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Lena 56t up an exparimant as shown befow.

==
e ——

—=r]_ _ {

borchi -

Oibet W

(8] VEhout moving the scraan, suggest two ways that will enadle Lena 1o obiana
bigges shadow of object W on the scresn. 21

(l

{liy

[0 Lena replaced abject ' with anothar rcund chisct made of a differant maberial
Sihe saw & darker shadow baing fopmed on the screen. Why is it =07 [}

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,003

Correctly answered feedback

aiy Lemn can move the object closer to the torch.
aii) Lena can move the torch closer to the object.

b) She saw a darker shadow as the new round object is made of a
material that blocks more light,

Incorrectly answered feedback

aiy Lemn can move the object closer to the torch.
aii) Lena can move the torch closer to the object.

b) She saw a darker shadow as the new round object is made of a
material that blocks more light.

Question 30 Primary 4 Science » Primary 4 Science (Term 2)
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8/6/2021
Sam and Sue wera given three balls of different sizes and masses as shown
badow.

pohystyrane ball miatal ball baskeibail

\What Instrument can they use o measure the masses of the bafis? (1

Accepted answers:
¥ electronic balance

¥’ An electronic balance

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,030

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 31
Based on the diagrams above, which object has the largest volume?

Accepted answers:
v basketball

¥’ The basketball

Question Type: Free Text
Date Added: Wed 7th Oct 2020

Last Modified: N/A
QID#: 24,119,044

Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 32

The maszs of each ball iz shown bedow
(Object | posiyrensbell | metsibal | basketball |
[Massig) | 350 1200 14904 ]

Sam concluded that the larger tha volume of the ball, the largar the ma[s;

(o}
Do you ggree with Sam7? Explain.

https://www.classmarker.com/a/tests/test/?test_id=1541073&trk=edittest_inrow_edit 28/44


https://0cm.classmarker.com/6226088_8N5424TD.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119030
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119030&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541073
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119044
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119044&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541073
https://0cm.classmarker.com/6226088_R8DVBDNC.png

8/6/2021

ClassMarker - Manage Test

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,067

Correctly answered feedback

ie} No. The volume of the ball does not determine the mass of the hall.
The baskethall has the largest volume but it does not have the largpsf mass.

Incorrectly answered feedback

ie} No. The volume of the ball does not determine the mass of the hall.
The baskethall has the largest volume but it does not have the I:rgﬂf MASS.

Question 33 Primary 4 Science » Primary 4 Science (Term 2)

Marha conductad an experiment using set-ups A and B as shown bolow, She
wrapped the plastic millk bottle in Sel-up A with aluminium fofl and another
denticsl plastic mik bolile in Sabup B with a nsbber sheet, She fled both
bottles with the same amount of hot milk at 60°C.

aluminium
fiail

AT

[l What would heppen o the temperature of the milk in the bottles afler
some fime? i

(b} Ghe & reason for your answar in par (a) (1]

{c} Marha placed setups A and B in & mom at 30°C, What could be the
lemperature of the mdk in the oofies after § minutes? Wiks your BNEWeTs N

the takibe given below, £
Tempoerature of the | Temperaturs of tha mifk
milk at the start after 5§ minutes
Set-up A T |
1
Setup B B0°C B
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Last Modified: N/A

Question Type: Essay
Date Added: Wed 7th Oct 2020

QID#: 24,119,137

Correctly answered feedback
a) The temperature will decrense.
b} The heat from the milk & gradually Iost to its surroundings over

ClassMarker - Manage Test

i

fime,
i)
Temperature of the millk at | Temperature of the milk
| the start after 5 minstes
Set-up A 60°C s5oC
| Setup B 60 °C 57°C

Incorrectly answered feedback
a) The temperature will decrease.
b} The heat from the milk is gradually lost to its surroundings over

i

fime,
i)
Temperature of the milk at | Tem peratare of the milk
| the stari after 5 minotes
Set-up A 60°C 55°C
| SetupB 60 °C s7oC

Question 34

Primary 4 Science » Primary 4 Science (Term 2)
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When Jenny brought a piece of bar magnet near a box of
attracted some nails o it as shown In the disgram below, o etk

fron nail

miggnet

Wihat can she do to enable e sama magnel bo -ililat:tm iron nails®  [1]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,156

Correctly answered feedback
She can use a stronger magnet to stroke the magnet shown in the diagram below

Incorrectly answered feedback
She can use a stronger magnet to stroke the magnet shown in the diagram below

Question 35 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Match the options below:

Jenny accidentally dropped the plece of magnet and it was broken info four
pans abelled W, X, ¥ and Z as shown in the diagram below

=5 =
R

jpaart W/ par X Pt Y part £

Label the poles of the parts of the Broken magnel in the boxes provided

abde,
[
Clue Match
PartY N
Points: +1 =0
Part Z S

https://www.classmarker.com/a/tests/test/?test_id=1541073&trk=edittest_inrow_edit 31/44


https://0cm.classmarker.com/6226088_Z6K0129U.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119156
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541073&question_id=24119156&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541073
https://0cm.classmarker.com/6226088_X0981YG0.png

8/6/2021 ClassMarker - Manage Test

Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,119,173
Question 36 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Lao conducted an experiment to measure fhe amount of light that can pass
through fve different matarials. The results are shown in the bar chart balow,

Amaunt of light
that passed
throuwgh tha

rmaterial
(it

[ 1 -~

A ] c 1] E Makerial

Based on the results given in the bar char above, arrange the matarals in
order starting from the one that allows the most ight 1o pass theough 2]

Allow most » Allow leasi
ight o pass light fo pass
thrawgh thwgugh
Materizls 3 a5 Y 5

Accepted answers:
v D,C,AB,E
v D,C,A B,E
v'D,C,A,B,E

v DCABE

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,218
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Qu estion 37 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Leo wants to choose a material for making a door for the public toilet to ensure privacy. Which material
would be the most suitable?

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,243

Correctly answered feedback

Material E. As it blocks all of the light, it means that it is opaque. When a material is opaque it
means that it is not see-through, making it a good choice when privacy is needed

Incorrectly answered feedback

Material E. As it blocks all of the light, it means that it is opaque. When a material is opaque it
means that it is not see-through, making it a good choice when privacy is needed

Qu estion 38 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
Study the Bow chart below
Does it have mass? i A
Yes
* .h
Does it have a definfle volume? —E
Wies
Mo
Does it have a definite shape? '3
Yes )
= =
ig) Based on the flowchan, state tvo properties of B. .E*.}
fb)  Which staie of matier is Cin? [1]
ic) Give an exampie of & [1]

(di Based on the flow char, siale one diference between B and D
1]
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Question Type: Essay
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,261

Correctly answered feedback
a) B has mass but does not have a definite volume.
b) C is in the liquid state.
c) A can be sound (or non-matter)

d) I} has a definite volume but B does not.

Incorrectly answered feedback
a) B has mass but does not have a definite volume.
b) C is in the liquid state.
c) A can be sound (or non-matter)

d) I} has a definite volume but B does not.

Question 39 Primary 4 Science » Primary 4 Science (Term 2)

Benson lves in a very hot part of the world whers the lemperature st noon can
easily reached 35°C. As a resulf, it 8 very common to see cracks on Lhe
concrala ground becausa of the heat from the sun as shown in the digram

bl Gt

Explain how would the heat from the Bun cause the cracks on the ground fo be

farmed? -
EZi

Question Type: Essay
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Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,279

Correctly answered feedback

a) As the heat caused the conerete ground to expand, there was no .
more space for the ground so it cracked.

Incorrectly answered feedback

a) As the heat caused the conerete ground to expand, there was no .
more space for the ground so it cracked.

Question 40 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Benson's father instructed him to fit a matal fim tightly around the wheals o
protect the wheels from being damaged by the unewsn grounsd
iy = a . &5 shown in the

mtal rim

Esfore ifting the rim reund the ' After fitting the rim rownd
bullock-can wheel __the bullock-cart wheel

However, the metal rim was not big enough 1o ba fitted amund the whesals at
room temperature. His fathar suggested two slaps 10 comglate the task,

) Using only & bunsen bumer, descibé what should Banson do to R the matal
rim fighily round the bullock-cart wheels? 2]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,285

Correctly answered feedback

b)) Benson shoold nse the Bunsen burner to heat up the mefal rim. Heat
will cause the metal rim to expand so that the bullock-curt wheel is able to
fit into the metal rim. After which, he has to let the metal rim cool off by
removing it from heat. The metal rim will then contract back and 6t tghily
sronnd the bullock-cart wheel.
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Incorrectly answered feedback

‘b) Benson shoold nse the Bunsen burner to heat up the metal rim. Heat
will canse the metal rim to expand so that the bullock-cart wheel is able to
fit into the metal rim. After which, he has to let the metal rim cool off by

removing it from heat. The metal rim will then contract back and fit tehtly
aronmd the bullock-cart wheel.

Qu estion 41 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Thomas conducted an exparimant using tha set-up bafow,
cantainef mude of fiquid K at 10°C

. 4
%

I ip—— ~1 ot water 2t 80°C

. . e

He maasured the temperature of liqguid K in the container made of materisl W
over & pariod of time. He rapeated the expariment using a container made of
matesial X His results are shown In the graph bebow,

Tempearature
of liguad K
Gl

Time {h)

{a) Swite one varabla in this experiment that must be kept thesame o
BnEune & fair test [

(b} If Thomas wanted 1o biing cold drinks for & school frip, which material
should he use for the container to keap his cold drinks cold for 8 longer perisd
of fine? Explain wour saswed. 2]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,320

Correctly answered feedback
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@) There must be the same amount of liquid.

) Material W. Liquid K in the container made of material W gained
heat slower from the hot water. Hence, material W is a poor conductor aof
heat. [t means that the cold drinks stored in a container made of material
W will be kept cold for longer since the container will gain heat over »
Innger period of time.

Incorrectly answered feedback

@) There must be the same amonnt of lguid.

) Material W. Liquid K in the container made of material W gained
heat slower from the hot water. Hence, material W is a poor conductor aof
heat. [t means that the cold drinks stored in a container made of material
W will be kept cold for longer since the container will gain heat over a
longer period of fime.

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Thomas managed to find & material ¥ that is able 1o keep cold drinks cald
for an even longer perlod of time. Which one of the Bnes in the graph below, A
or B, comectly shows how the temperature of Biquid K in @ container made of
material ¥ would change over ime? [1]

s Time {h}

A) A
v B) B
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,333
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Question 43

The diagram below shows an umbralia.

part F

part &

What material showld part F be macde of?

Accepted answers:

v plastic

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,351

Question 44

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

1]

Primary 4 Science » Primary 4 Science (Term 2)

)} Complete the lable below to show how two properties of the mﬂerta']ll

stabed iy part (&) make an umbrella useful in differend condiions. [2
i | 5 1
f Conditions Froparty i
T . 50 —
T Sunny day :
Z, Rairy day

maka part G instead of plastic,

g} Part G of the unbeella is usually made of metal. Explain why metal s used i

il

Question Type: Essay
Date Added: Wed 7th Oct 2020
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1 pt
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QID#:

Last Modified:

Correctly answered feedback

ClassMarker - Manage Test

b)
- Conditions ) Frnpert:.l ]
1. Sunny day Shady, can block out heat
and sunlight.
2. Rainy day Waterproof, can prevent a
person from getting wet.

) Metal is stronger than plastic.

Incorrectly answered feedback

b
- Conditions ) Frnperty ]
L Sunmy day Shady, can block out heat
and sunlight.
N Rainy day Waterproof, can prevent a
person from getting wet.

Question 45

) Metal is stronger than plastic.

Primary 4 Science » Primary 4 Science (Term 2)

During a science lesson, Kendrick was given two rods and was toid 1o make
them into electromagnets. He crealed the sel-up as shown below,

rod 1

furns of a ccd

Name & material thal can be used to make an electromagnet, [1]

https://www.classmarker.com/a/tests/test/?test_id=1541073&trk=edittest_inrow_edit
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Accepted answers:
v Nickel
v’ Cobalt

v Iron

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,394

Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 46

Hendbek warded rod 2 o heve a grealer magnetic strength than red 1.

M) State one changs thet Kendrick can make i e setasn shown above in ordar
for rad 2 to hava a greater magnetic sirangth 1

Kendrick was ihen given a third rod amd was asked 1o bring afl three rods near
a dish containing simd#ar pages clips, The numbssr of paper clips atbracted by
each rod were recorded in Bwe table halow,

Rod Mumber of paper clips atirsctad
1 &
2 8
| 4]
€]  Give a possibie reason why no paper cips wes attracted by rod 3. i1

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,413

Correctly answered feedback

b} Kendrick can coil rod 2 a greater number of times.
'c) Rod 3 cannot be an electromagnet / could not be magnetized.

I Incorrectly answered feedback
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b} Kendrick can coil rod 2 a greater number of times.

ic) Rod 3 cannot be an electromagnet / could not be magnetized.

Question 47 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
Study the classification chart balow.
e
Flowering Mon-flawaring
[_D“ land In water On land In water

LL| I [ 1
A B C ]

mummmmammmmmmmmaamu [2
Plant B

Plant O

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,429

Correctly answered feedback
| Plaeat B: Plant B is a flowering plant which lives in water.
Plaet I: Plant D is a non-flowering plant which also lives in water.,

Incorrectly answered feedback
| Plaeat B: Plant B is a flowering plant which lives in water.
Flaat I: Plant D is a non-flowering plant which also lives in water.

Question 48 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
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Basad on the chart above, which group, A, B, C and D, would you classify the
following plants? [1]
. Group
vV A A

B) B

C) C

D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,119,446

Question 49 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

[ ]
¥ |
|

A) A

B) B

v C) C

D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,119,455
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Question 50

The plelures bedow eheow bwo animals, X sod Y

Primary 4 Science » Primary 4 Science (Term 2)

Ariimal X Arnimal ¥

State the anamal group that animad X belong to.

Animal X

Accepted answers:

¥ mammals

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,471

Question 51

(4]

Primary 4 Science » Primary 4 Science (Term 2)

(b} Based only on what you can obserse from the piclures above, sisle one
difefermncs bebween animal X and animal Y. (Do nof compare iheir body shaps,

sire and colour )

il

(o  How oo animal & and animal 7 reproduce?

Brimal X:

2

HAriimal ¥

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,119,482

Correctly answered feedback
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b) Animal Y has scales while Animal X has hair.
¢) Animal X: Give birth to live young
Animal Y: Lays eggs -

Incorrectly answered feedback

b) Animal Y has scales while Animal X has hair.
¢) Animal X: Give birth to live young
Animal Y: Lays eggs -
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